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(6) Consider the function f(x) defined by the following graph.
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(a) Label all regions where f'(z) < 0. (-—% (! b
(b) Label all regions where f'(x) > 0. (-—ql \) U (i lg)
(c) Sketch a graph of f/(z) on the figure.
(d) What is lim, e f(2)? ©
() What is lim,, o f'(2)? O

(7) Use the limit definition of the derivative to evaluate f'(3), where
1
(a) flz) = $—__12
() £2) = o=
(8) Find the derivatives of the following functions
(a) 322 — 22% — Vz® — 29/1/? () %mz(z)
(b) 3z%e” (g) zte™™
3p—2 m
R 3—2z (i ) sm(Sx)
(d) V3z -2 (i) z*°
L —ooa() () v/esc(in(z))

(e) tan(z) (k) sin"!(3z — 2)
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